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AMANTHZEIZ ZTHN
ANATNTY=H EOAPMOI'QN ZE
NMPOrPAMMATIZTIKO NEPIBAAAON
TEXNOAOIKHZ KATEYOYNZHZ

OEMA 1°

A.1. ZwoT0,
. \abog,
. A@Bog,
. 2W0TO,
. \abog.

NnhLrwWN

B.a. X—-3
B. NMiaiianopeyp! 5
Z[i1eX
TEAOG_EnavaAnwng
y. Ep@avioe Z[11,Z[2]
0. Q- (Z[14]+2[15])/2
€. Eppavioe Z[X]
ra. A>=5 ka1 B<7
B. A<5 n B>=7
A.1.a. BA. oxoAiko BiIBAio § 10.2. (ogAida 207)
B. BA. ox0oAIkO BiBAio § 10.2. (ogAida 207)
A.2.a. (OXI (3+1*3>10)) KAI (15 MOD (3-1)=1)
B. (OXI (6>10)) KAI (1=1)
y. (OXI WEYAHS) KAI (AAHOHS)

0. AAHOHZ



OEMA 2°

A.
Ap18uoc EvToAng X X>1 X mod 2=0

1 5

2 AAnBrg

3 Weudnc
6 16

2 AAnBrg

3 AAnBic
4 8

2 AAnBNG

3 AAneng
4 4

2 AAnBrg

3 AANnBng
4 2

2 AAnBrg

3 AAnBic
4 1

2 Weudnc

ATABAZEX
B.

>
Bl
{V

XI NAI
° X>1

OXI NAI

A \ 4

X<—3*X+1 XX div 2




OEMA 3°
AAyop10p0G Babuooyia
MNaiano 1 péxpr 780
Epgavioe "Awote fabpouc”
AiaBaoe B[780,1],B[780,2]
Av (B[780,1]-B[780,2])>12 fj (B[780,2]-B[780,1])>12 TéTe
Ep@avioe "Awote TpiTo faBuo”
AiaBaoe B[780,3]
aAling
B[780,3]«-1
TéAog_av
TéAog_enavaAnyng

MNaianod 1 péxpr 780
Av B[780,3]=-1 TOTE
T[i]«(B[780,1]+B[780,2])/10
aAAieg
Av B[780,1]>B[780,2]
T[i]—(B[780,1]+B[780,3])/10
aAAiwg
T[i]—(B[780,2]+B[780,3])/10
TéAog_av
TéAog_av
TéAog_enavaAnyng

MNaiano 1 pgypi 6
kat[i]<0
TéAog_snavaAnyng

MNa i ano/l géxpr 780
Av T[i1<5 ToTE
KaT[1]«=kaTfl]+1
aAhiwg av T[i]<10 TOTE
kat[2]«<kat[2]+1
aAhiwg_av T[i]<12 TOTE
kaT[3]«—kaT[3]+1
aliwc_av T[i]<15 ToTE
kat[4]«<«kaT[4]+1
al\iwc_av T[i]<18 ToTE
Kat[5]«kaT[5]+1
aAliwg
KaT[6]« kat[6]+1
TéAog_av
TéAog_snavaAnyng

max«—kaT[1]
MNaiand 2 yéxpr 6
Av Kat[i]>max TOTE
max«—KaT[i]
TéAog_av
TEéAoG_snavaAnyng

MNaiano 1 yexpr 6
Av kat[i]=max TOTE
EMPavioe katli]
TéAog_av
TéAoG_gnavaAnyng
TéAog Babuohoyia



OEMA 4°

MPOrPAMMA TpiAia
METABAHTEZ
AKEPAIES: i j,I,5
XAPAKTHPES: T[3,3]
AOrIIKEZ: DONE
APXH
NA i ANO 1 MEXPI 3
A j ANO 1 MEXPI 3
T[IIJ '
TEAOZ_ENANAAHWHZ
TEAOZ_ENANAAHWHZ

MNAHOOZ—-0
0Z0 DONE<>AAHOHZ KAI NMAHO0><>9 ENMANAAABE
APXH_EMNANAAHWHZ
FPAWE 'AWOTE OUVTETAYHEVEC'
AIABAZE 2
MEXPIZ_OTOY T[I,x]="-'
NMAHOOZ~MNAHOOZ+1
AN MMAHO0Z MOD 2=1 TOTE
T[T, 3]'X"
AAAIQZ
T[l,z]«'0!
TEAOZ_AN
DONE« NIKHEE(T,T,%)
TEAOZ_EMNANAAHWHZ
AN DONE=AAHOHZ TOTE
AN MNMAHOO0Zz MOD 2=1 TOTE
FPAWE"'KEPAIZE O MPQTOZ NAIKTHZ'
ANAIQZ
MPAWE 'KEPAIZE Q AEYTEPOZ MAIKTHZ!
TEAOCZ_AN
AAAIQZ
FPAWE 'T>OMNAAIA'
TEAOZ_AN
TEAOZ_INPOIrPAMMATOZ TpiMila

SYNAPTHZH NIKHZE(T,I,%):AOTIKH
METABAHTEZ
XAPATHPEX:T[3,3]
AKEPAIES: ij
APXH
AN T[1,5]=T[2,2] KAI T[2,5]=T[3,Z] TOTE
NIKHZE —AAHOHS
AAAIQE_AN T[T, 1]=T[r,2] KAI T[T, 2]=TI[r,3] TOTE
NIKHZE—AAHOHS
AAAIQE_AN T[1,1]=T[2,2] KAI T[2,2]=T[3,3] TOTE
NIKHZE—AAHOHS
AAAIQE_AN T[1,3]=T[2,2] KAI T[2,2]=T[3,1] TOTE
NIKHZE —AAHOHS
AAAIQE
NIKHSE«—WEYAHS
TEAOZ_AN
TEAOZ_XYNAPTHEIHE



